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MAT 111, section _____ Name AV!SN&/:S
Test 3 version A, fw_:) 100 points Seat: Letter & Number

Directions: Show all work algebraically unless otherwise indicated. If solving graphically, label the
graph and the solution on the graph. If rounding is necessary, round to the nearest thousandth.
20 points [Chapters 5 and 6 sections 1-4.]
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2. Find the following for the rational functions below:
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4. For f(x)——— and g(x)=x?-5 find the following:
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7. Evaluate the following by rewriting in exponential form and simplifying. Show your work
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8. Solve for x. Give exact answers and where approprlate apprommalc answers rounded to 3 decimal
places. =
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